ZIER<AKDER
1. WOHEZ LRI,

SERERI 2> No.l DFEE
(1) (-0 20) + (—-2)

(6) (8a%b — 12ab*>— 4ab) + (— 4ab)
. —2a+3b+1
#. —3a+10 (1) (92— 1522+ 3z) + (*%x)
(2) (12zy + 9z) + 3z
. — 62”4 10z — 2
. 4y +3
Y (8) (— 4a®+ 8xy) + (*%r)
(3) (22%+ 82?— 6x) + (— 2x)
% 6 — 12y
B, —x?—4dx+3
©) (15¢ — 5y) + (— 5)
4) (12zy — 8z) + 4z
e
%. 3y —9 (=) 31' + Yy
10) (4ab + 6a) =+ 2
(5) (15ab + 6b) = 3b (10) (4ab + Ga) = 2a
&. ba + 2

e

.20+ 3



ZIEA<AKADER %2Bd%BI2> No.2DHEE
1. ROFEZ LRIV,
o)) (%9921/ *%zy”%l’y) +%wy

% 3z — 4y + 5

(2) (4022%y — 8xy + T2xy?) + (— 8xy)

E., —bxr+1—9y

(3) (a*+ 7a) ~a

4) (— 423+ 8xy) + (*%z)

%6 — 12y

(5) (9a%b + 12ab?) + 3ab

. 3a+4b

6) (— 9a%b + 6ab?) = (—%ab)

. 6a — 4b

(1) (923 — 1522+ 3z) + (f%x)

2 — 622+ 10z — 2

(8) (8a*b — 12ab®— 4ab) <+ (— 4ab)

&, —2a+3+1

(9) (3a + 15b — 6¢) + 3

%, a4+ 5b— 2c

(10) (10ax + 6ay) + (— 2a)



ZIEA<AOER H»HBdERI2> No.3DHEE
1. WOHEZ LRI, ©6) | 3 2 2a) =+ (— %)

5

(1) (day®— 8z2y) + 4y

Z. —3a+10
S _
YT (7) (16a*— 12ab) + (— 4a)
(2) (— 212+ 142° — 422) + (— Tx)
. —4a+ 3b
% 322 — 22+ 6
(8) (10x?%y — 4xy?) + 2wy
(3) (3:172* 4xy) %%m
e &, br — 2y
. 12z — 16y
3 9) (22°4 822 — 6x) + (— 2x)
4) (9a+ 3a%b + 12ab?) +a

%K. —a?—4dx+3
2. 12a%+ 4ab + 1652 x x

(5) (12zy — 8z) + 4z (10) (4ab + 6a) ~ 2a

.3y -2 % 9h + 3



ZEA<AORRA #HEZERI2> No.dDEE

1. ROFHEZ LRI, 6) (22°— 2%+ 42) ~ x

(1) (9a3+ 3a2b + 12ab?) %%a

M 1242+ dab + 165 (1) (62%y — 8ay?) + (—%xy)

(2) (a®*+ 7a) ~ a

(8) (4ab + 6a) + 2a
(3) (12zy — 8z) + 4z

2. 20+ 3
. 3y — 2
) (9) (152 — 5y) + (— 5)
(4) (32%— 4xy) %Taj
K, —3x+uy
. 12z — 16y
1 2 2 2, 9
(10) (——2y ———ay"+——xy) ~——aY
(5) (8a®— 4ab) + 4a ( 2 3 6 ) 6

B 9q — b Z. 3z — 4y +5




ZEHA<ADEMR

1. ROFIFHZ LaSu,

(1) (4a + 6b) = 2

HEiEAI 2>  No.5 DfEE

6) (da2y — 122y) + (— 4590 )
%. — by + 15y
B2 ) (@t 20) L
(2) (3a + 156 — 6¢) + 3
Z. 3ab+ 6
. a+5b—2
¢ ¢ (8) (92°— 152°+ 32) + (—-2-z)
(3) (62%y — 8xy?) + (—%xy)
. — 622+ 100 — 2
Z. — 9z + 12y
9) (— 42+ 8xy) + (——=-x)
(4) (6a®b — 4ab®— 8ab) + 2ab
s 2__
5 30— ob — 4 2. bx 12y
1 2 2 o, 5 .. 1 (10) (15ab + 6b) + 3b
(5)(2xy 3xy+6xy).6xy
2. 3z — 4y + 5

2. Ba + 2



